F19m] MR R KKK B RS

S PR RKFEAR—YBEE Mkt~ — v (50m) 1/1
WA : 2024%5H 18H (+)

No.24 BF 50m Fjk=F A LL—RRE ARFLER 31.13

L HzE4E >

B K £ B FE 7K B iclE
1 22 &= 8k S S KR ==h] 2/ 4 32.98 10k ( )

- JoC

2 AR 1&KEE L8RS S KA 12 2/ 6 33.48 8tk ( )
3 g Ak S S CH&E 2 2/ 2 35.38 T ( )
4 JRlRE HEAT BHESS 12 2/ 3 35. 86 T ( )
5 BJE  IESE BESS 12 2/ 1 36. 14 T ( )
6 LA UEE L8RS SXA H12 1/ 4 37.83 5k ( )
7 FRH OEEK RS C H12 1/ 5 40. 61 3tk ( )
8 A fdaF AQUATTCS-]JP M1 1/ 6 41.07 45% - ( )
9 L\ KT = X I 3 1/ 2 41. 21 Lk ( )

No.24 BB+ 50m FEx=E B A LL—RRH AR 30.45

< BRE »

B K 4 T & FE 7K % B
1 KPR H FiA WAYSE=1 = 3/ 2 31.72 S8tk ( )
2 L ZERFIR 5 R 0] = 3/ 1 33. 11 T ( )
3 AW F 2L R =8 2/ 5 33.88 T ( )
4 Fkn BB 2 VHENST =1 3/ 8 34. 64 6k ( )
5 Vefk  HfE =S A =2 1/ 3 38.99 2% ( )

No.24 BF 50m Fjk=F BALL—R R AR 27.96

LK REXERDE >

B K % T B FE 7K B =G
1 RA KK R X3 4/ 4 28.17 108%  ( )
2 HE ORHK TOYOTA —fi% 3/ 5 28.75 9k ( )
3l FHik K )3 4/ 5 28.99 9% ( )
4 2 FK NN X3 4/ 3 29. 24 9% ( )
5 A B FRTR K1 4/ 6 29. 37 10k ( )
6 i K K4 4/ 1 29. 38 9k ( )
7 [ Ak R x1 4/ 1 29. 86 9% ( )
8 hH JIik NN K1 4/ 2 30. 15 9% ( )
9 KEp [EF R R | 3/ 6 30. 94 T ( )
10 Ak fhs TOYOTA —f% 3/ 4 31.37 T ( )
11 #55k &= R K2 3/ 7 33.17 58 ( )

HAOBRME: 5H18H 14:38



